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lllustrations

1. The area of a square is 42.25 m?:

Find the side of the square.

[ o Watch Video Solution


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_btC9m6HZDjr2

2.The area of a square is 42.25 m?:
If the tiles measuring 13 cm X 13 cm are
paved on the square area, find how many tiles

are used for paving it?

o Watch Video Solution



https://dl.doubtnut.com/l/_btC9m6HZDjr2
https://dl.doubtnut.com/l/_JnBEHLUAYuO7

3. Find the area of the given figure.

[

1d em

o Watch Video Solution

4, A 5100 sq. cm trapezium has the
perpendicular distance between the two

parallel sides is 60 cm.


https://dl.doubtnut.com/l/_8yPRfYOO6DBx
https://dl.doubtnut.com/l/_J8ps652ZFnEW

If one of the parallel sides be 40 cm then, find

the length of the other parallel side.

° Watch Video Solution

5. The area of the trapezium is 105 cm? and its
height is 7 cm. If one of the parallel sides is
longer than the other by 6 cm, find the length

of parallel sides.

o Watch Video Solution



https://dl.doubtnut.com/l/_J8ps652ZFnEW
https://dl.doubtnut.com/l/_AGApEw1pGqgY

6. Find the area of the given figure.

o Watch Video Solution



https://dl.doubtnut.com/l/_qP4bOfzSkMwE

7.Find the area of quadrilateral 1JKL.

° Watch Video Solution

8. The length of a side of a square field is 4 m.
What will be the altitude of the rhombus, if

the area of the rhombus is equal to the area


https://dl.doubtnut.com/l/_2zyOPbLsWeXv
https://dl.doubtnut.com/l/_How2q9EfVNDF

of a square field and one of its diagonal is 2 m

?

° Watch Video Solution

9. Find the area of the hexagon in the
adjoining figure, if M P = 9cm,

MD =7 cm, MC = 6cm,

MB =4 cm, MA = 2 cm,

AN =3 cm,OC =5 cm,


https://dl.doubtnut.com/l/_How2q9EfVNDF
https://dl.doubtnut.com/l/_c7B0bGJYGUwO

D@ =2 cm and BR =4 cm.

° Watch Video Solution

10. Find the surface area of a chalk box, whose
length, breadth and height are 16 cm, 4 cm

and 6 cm respectively.

| N I


https://dl.doubtnut.com/l/_c7B0bGJYGUwO
https://dl.doubtnut.com/l/_yzNK50E6NQAm

| ¥ Watch Video Solution |

11. A swimming pool is 20m in length, 15m in
breadth, and 4m in depth. Find the cost of
cementing its floor and walls at the rate of

Rs12 per square metre.

o Watch Video Solution

12. The diameter of a garden roller is 1.4 m and

it is 2 m long. How much area will it cover in 5


https://dl.doubtnut.com/l/_yzNK50E6NQAm
https://dl.doubtnut.com/l/_7Rvhf75YlFzw
https://dl.doubtnut.com/l/_JoMfY8GgxHSn

revolutions? (a) 36 m2 (b) 40 m2 (c) 44 m2 (d)

48 m2

° Watch Video Solution

13. The ratio between the curved surface area
and the total surface area of a right circular
cylinder is 1:2. Find the ratio between the

height and radius of the cylinder.

o Watch Video Solution



https://dl.doubtnut.com/l/_JoMfY8GgxHSn
https://dl.doubtnut.com/l/_8XdNpdvq7soR

14. A rectangular sheat of paper 44cm x 18cm
is rolled along its length and a cylinder is

formed. Find the radius of the cylinder.

o Watch Video Solution

15. Find the surface area of a cube whose

volume is 512m3

° Watch Video Solution



https://dl.doubtnut.com/l/_HIXLEKJPwiYd
https://dl.doubtnut.com/l/_DZiDXhyLDiS0

16. A rectangular block of ice measures 40cm
by 25cm by 15cm. Calculate its weight in kg, if
ice weighs 10 of the weight of the same

volume of water and 1 ¢m?® of water weighs 1

gm.

o Watch Video Solution

17. The length of a cold storage is double its

breadth. Its height is 3 metres. The area of its


https://dl.doubtnut.com/l/_60StgtzG4dIB
https://dl.doubtnut.com/l/_nHbuaXH2smBO

four walls (including doors) is 108 m?. Find its

volume.

o Watch Video Solution

18. An agricultural field is in the form of a
rectangle of length 20m and width 14m. A pit
6mlong, 3mwideand2. 5mdeep is dug in a
corner of the field and the earth taken out of
the pit is spread uniformly over the remaining
area of the field. Find the extent to which the

level of the field has been raised.

| e |


https://dl.doubtnut.com/l/_nHbuaXH2smBO
https://dl.doubtnut.com/l/_1ez4hTNHjlJP

& Watch Video Solution I

19. The dimensions of a rectangular box are int
he ratio of 2:3:4 and the difference between
the cost of covering it with sheet of paper at
the rates of Rs.8 and Rs.9.50perm? is

Rs.1248. Find the dimensions of the box.

° Watch Video Solution

20. A rectangular paper of width 14 cm is

rolled along its length and a cylinder of radius


https://dl.doubtnut.com/l/_1ez4hTNHjlJP
https://dl.doubtnut.com/l/_9DLLqI9m0sL4
https://dl.doubtnut.com/l/_W81a3cRy3okL

20 cm is formed. Find the volume of the

, 22
cylinder. | Taker = a

° Watch Video Solution

21. The volume of a solid cylinder is 448 mem?

and height 7cm. Find its lateral surface area

and total surface area.

° Watch Video Solution



https://dl.doubtnut.com/l/_W81a3cRy3okL
https://dl.doubtnut.com/l/_IsQGiuqk1TG0

22. Find the number of coins, 1.5 cm in
diameter and 0.2 cm thick, to be melted to
form a right circular cylinder of height 10 cm

and diameter 4.5 cm.

° Watch Video Solution

Solved Examples

1. The length of a rectangle is increased by

60%. By what percent should the width be


https://dl.doubtnut.com/l/_NKC2L8lpMBhH
https://dl.doubtnut.com/l/_BJBM2D5gRcTZ

decreased to maintain the same area?

o Watch Video Solution

2. The diagonal of the floor of a rectangular

closet is 75 feet. The shorter side of the
1

closet is 45 feet. What is the area of the

1
closet in square feet? 5 (b) 13 (c) 27 (d) 37

° Watch Video Solution



https://dl.doubtnut.com/l/_BJBM2D5gRcTZ
https://dl.doubtnut.com/l/_Dw4S9FkgvkaI

3. A hall-room 39 m 10 cm long and 35 m 70 cm
broad is to be paved with equal square tiles.
Find the largest tile so that the tiles exactly fit

and also find the number of tiles required.

o Watch Video Solution

4. Find the area of the shaded region of the
given figure, if ABCD is a square of side 14 cm

and APD and BPC are semi-circles.


https://dl.doubtnut.com/l/_kyvC1xhmO6r2
https://dl.doubtnut.com/l/_L4SRxBsMAI6Y

o Watch Video Solution

5. An athletic track 14 m wide consists of two
straight sections 120 m long joining semi-

circular ends whose inner radius is 35 m.


https://dl.doubtnut.com/l/_L4SRxBsMAI6Y
https://dl.doubtnut.com/l/_zachSnh94GCt

Calculate the area of the shaded region.

Taker — 22
emr = 7

° Watch Video Solution

6. In the adjoining figure,
AB | | DC and DA is perpendicular to AB.
Further, DC =7 ecm, CB =10 cm and
AB =13 <om. Find the area of the

quadrilateral ABCD.

° View Text Solution



https://dl.doubtnut.com/l/_zachSnh94GCt
https://dl.doubtnut.com/l/_gbM0W01BIdNy
https://dl.doubtnut.com/l/_tLG8rKkkniZ0

7. Find the area of the four walls of the room
whose length is 6 m, breadth is 5 m and height
is 4 m. Also find the cost of white washing of
four walls, if the rate of white washing is Rs. 5

per square metre.

o Watch Video Solution

8. The edge of cube is 20 cm. How many
smallcubes of 5 cm edge can be formed from

this cube ?

l a Watch Video Solution


https://dl.doubtnut.com/l/_tLG8rKkkniZ0
https://dl.doubtnut.com/l/_feXvktmdjamx

o. How many bricks of size
22cm x 10em x Tem are required to construct
a wall 33m long, 3.5m high and 40cm thick, if
cement and sand used in the construction

1
occupy 1—0th part of the wall?

o Watch Video Solution

10. A cuboidal oil tin is 30 cm by 40 cm by

50 cm- Find the cost of the tin required for


https://dl.doubtnut.com/l/_feXvktmdjamx
https://dl.doubtnut.com/l/_qSuHcRMVEZ5U
https://dl.doubtnut.com/l/_kFlG8pYCV74Q

making 20 such tines if the cost of tin sheet is

Rs.20 per square metre.

° Watch Video Solution

11. The paint in a certain container is sufficient
to paint on area equal to 9. 375 m*. How many
bricks of dimension
22.5cm x 10 em x 7. 5 cm can be painted out

of this container?

° Watch Video Solution



https://dl.doubtnut.com/l/_kFlG8pYCV74Q
https://dl.doubtnut.com/l/_kgBuY3TzwIOw
https://dl.doubtnut.com/l/_f3XiiTbL9ffF

12. A cub of 9 em edge is immersed completely
in a rectangular vessel containing water. If the
dimensions of the base are 15cm and 12cm.

Find the rise in water level in the vessel.

° Watch Video Solution

13. How many soap cakes can be placed in a
box of size 56cm x 0. 4m x 0. 25m, if the size

of a soap cake is Tcm x 5cm x 2. bem ?

° Watch Video Solution



https://dl.doubtnut.com/l/_f3XiiTbL9ffF
https://dl.doubtnut.com/l/_sJtv1v82NvDg

14. If V is the volume of a cuboid of

dimensions a, b, cand S is its surface area,

th thtl 2 1—|—1-|—1
enprovethat — = — | — + — + —
P V S\a b C

o Watch Video Solution

15.In a temple there are 25 cylindrical pillars.
The radius of each pillar is 28 cm and height is
4 m. Find the total cost of painting the curved

surface area of pillars at the rate of Rs. 8 per

5 22
m*. | Taker = -

| = |


https://dl.doubtnut.com/l/_7RMchevrvbnh
https://dl.doubtnut.com/l/_I5s7OXeRIaS1

I &9 Watch Video Solution I

16. A company packages its milk powder in
cylindrical containers whose base has a
diameter of 16.8 cm and height 20.5 cm.
Company places a label around the curved
surface of the container. If the label is placed

1.5 cm from the top and the bottom, what is

22
the surface area of the label? [Takew = 7]

o Watch Video Solution



https://dl.doubtnut.com/l/_I5s7OXeRIaS1
https://dl.doubtnut.com/l/_II1aoor8Wj3r

17. The radii of two right circular cylinders are
in the ratio 2 : 3 and their heights are in the
ratio 5 : 4. Calculate the ratio of their curved
surface areas and also the ratio of their

volumes.

o Watch Video Solution

18. A circular well of radius 3.5 m is dug 20 m
deep and the earth so dug is spread on a

rectangular plot of length 14 m and breadth 11


https://dl.doubtnut.com/l/_MZ1UnUXC4flV
https://dl.doubtnut.com/l/_M9Q4bcFsvyga

m. Find :

Volume of the earth dug-out.

° Watch Video Solution

19. A circular well of radius 3.5 m is dug 20 m
deep and the earth so dug is spread on a
rectangular plot of length 14 m and breadth 11
m. Find :

Height of the platform formed by spreading

the earth on the rectangular plot.

o Watch Video Solution



https://dl.doubtnut.com/l/_M9Q4bcFsvyga
https://dl.doubtnut.com/l/_JPv45OJ30wwO

20. The thickness of a metallic tube is 1 cm and
its outer radius is 11 cm. Find the mass of such

1 metre a long tube, if the density of the metal

22
is 7.5 g per em”. [Takew = 7]

o Watch Video Solution

21. A rectangular sheet of paper is rolled in
two different ways to form two different
cylinders.Find the volume of the cylinders in

each case if the sheet measured 44cmX33cm


https://dl.doubtnut.com/l/_JPv45OJ30wwO
https://dl.doubtnut.com/l/_MvihjQpj9pVu
https://dl.doubtnut.com/l/_vZMkFXy8RyQn

° Watch Video Solution

Ncert Section Exercise 111

1. A square and a rectangular field with

measurements as given in the figure have the

same perimeter. Which field has a larger area?

O Watch Video Solution



https://dl.doubtnut.com/l/_vZMkFXy8RyQn
https://dl.doubtnut.com/l/_Yu2ubtT6hrqf

2. Mrs. Kaushik has a square plot with the
measurement as shown in figure. She wants to
construct a house in the middle of the plot. A
garden is developed around the house. Find
the total cost of developing a garden around

the house at the rate of Rs. 55 per m?.



https://dl.doubtnut.com/l/_G7jIqz3Ml87o

° Watch Video Solution

3. The shape of a garden is rectangular in the
middle and semi circular at the ends as shown
in the diagram. Find the area and the

perimeter of this garden (Length of rectangle

is 20 — (3.5 + 3.5) metres).

o Watch Video Solution



https://dl.doubtnut.com/l/_G7jIqz3Ml87o
https://dl.doubtnut.com/l/_1V9oaceet2PT

4. A flooring tile has the shape of a
parallelogram whose base is 24 cm and the
corresponding height is 10 cm. How many such
tiles are required to cover a floor of area 1080
m2? (If required you can split the tiles in

whatever way you want to fill u

o Watch Video Solution

5. An ant is moving around a few food pieces

of different shapes scattered on the floor. For


https://dl.doubtnut.com/l/_1V9oaceet2PT
https://dl.doubtnut.com/l/_kCMQENfyyvzK
https://dl.doubtnut.com/l/_gPEpuMOzpvAx

which food-piece would the ant have to take a
longer round ? Remember, circumference of a
circle can be obtained by using the expression

c = 27r,where r is the radius of the circle.

£ [~

=ibaw— g em— '-:;&/F

Lab bl

o Watch Video Solution

Ncert Section Exercise 11 2



https://dl.doubtnut.com/l/_gPEpuMOzpvAx

1. The shape of the top surface of a table is a
trapezium. Find its area if its parallel sides are
1T m and 1.2 m and perpendicular distance

between them is 0.8 m.

o Watch Video Solution

2. The area of a trapezium is 34 cm? and the
length of one of the parallel sides is 10 cm and
its height is 4 cm. Find the length of the other

parallel side.

| & I


https://dl.doubtnut.com/l/_IQc3YehKNbS6
https://dl.doubtnut.com/l/_nUmTjgkljplN

| ¥ Watch Video Solution |

3. Length of the fence of a trapezium shaped
field ABCD is 120 m. If BC =48 m, CD = 17
m and AD = 40 m, find the area of this field.
Side AB is perpendicular to the parallel sides

AD and BC.

.ﬂ' ",

b

o View Text Solution



https://dl.doubtnut.com/l/_nUmTjgkljplN
https://dl.doubtnut.com/l/_NUohiqjuew6E
https://dl.doubtnut.com/l/_zETqMTOO3nDI

4. The diagonal of a quadrilateral shaped field
is 24 m and the perpendiculars dropped on it
from the remaining opposite vertices are 8 m

and 13 m. Find the area of the field.

o Watch Video Solution



https://dl.doubtnut.com/l/_zETqMTOO3nDI

5. The diagonals of a rhombus are 7.5 cm and

12 cm. Find its area.

° Watch Video Solution

6. Find the area of a rhombus whose side is 6
cm and whose altitude is 4 cm. If one of its
diagonals is 8 cm long, find the length of the

other diagonal.

o View Text Solution



https://dl.doubtnut.com/l/_aCsgXoZQ0wW1
https://dl.doubtnut.com/l/_FjqDMvq5rHfo
https://dl.doubtnut.com/l/_XXZJLE84cgXX

7. The floor of a building consists of 3000 tiles
which are rhombus shaped and each of its
diagonals are 45 cm and 30 cm in length. Find
the total cost of polishing the floor, if the cost

per m? is Rs. 4.

o Watch Video Solution

8. Mohan wants to buy a trapezium shaped
field. Its side along the river is parallel to and
twice the side along the road. If the area of

this field is 10500 m2 and the perpendicular


https://dl.doubtnut.com/l/_XXZJLE84cgXX
https://dl.doubtnut.com/l/_XVz6GYI6R7se

distance between the two parallel sides is 100

m, find the length

° Watch Video Solution

9. Top surface of a raised platform is in the
shape of a regular octagon as shown in the

figure. Find the area of the octagonal surface.



https://dl.doubtnut.com/l/_XVz6GYI6R7se
https://dl.doubtnut.com/l/_ebUlxsg25bpt

° Watch Video Solution

10. There is a pentagonal shaped park as
shown in the figure. For finding its area Jyoti
and Kavita divided it in two different ways.
Find the area of this park using both ways. Can

you suggest some other way of finding its area


https://dl.doubtnut.com/l/_ebUlxsg25bpt
https://dl.doubtnut.com/l/_o5dYIWhWsaqx

° Watch Video Solution

11. Diagram of the adjacent picture frame has

outer dimensions


https://dl.doubtnut.com/l/_o5dYIWhWsaqx
https://dl.doubtnut.com/l/_qLtmzg5yafOy

. 2a0rmf Pem{rm{ 1} \times (\rm{ }28{rm{

Hem

©

Watch Video Solution

Ncert Section Exercise 113

1. There are two cuboidal boxes as shown in the

adjoining figure. Which box requires the lesser


https://dl.doubtnut.com/l/_qLtmzg5yafOy
https://dl.doubtnut.com/l/_X2IjX1s8dxdy

amount of material to make ?

- T
50 cEm 'I:Ilrm
4~ e
P—p— " o=
fap L

° Watch Video Solution

2. A suitcase with measures 80 cm X 48 cm X
24 cm is to be covered with a trapaulin cloth.
How many metres of trapaulin of width 96 cm is

required to cover 100 such suitcases ?

o Watch Video Solution



https://dl.doubtnut.com/l/_X2IjX1s8dxdy
https://dl.doubtnut.com/l/_rOom3uRYjfl3

3. Find the side of a cube whose surface area is

600 cm?.

° View Text Solution

4. Rukhsar painted the outside of the cabinet of
measureTm X 2m X 1.5 m. How much surface

area did she cover if she painted all except the


https://dl.doubtnut.com/l/_rOom3uRYjfl3
https://dl.doubtnut.com/l/_iBKv9PeffoNK
https://dl.doubtnut.com/l/_rhemxMtQh3mk

bottom of the cabinet?

[~ '““'nh_
| T 1
‘ [ ]| (o] .|1m
g = |
'I'I'-Ell"-1| > i

o Watch Video Solution

5. Daniel is painting the walls and ceiling of a
cuboidal hall with length, breadth and height of

15 m, 10 m and 7 m respectively. From each can of

paint 100 m{m"2}°

Watch Video Solution


https://dl.doubtnut.com/l/_rhemxMtQh3mk
https://dl.doubtnut.com/l/_QpXQHvBfDIxG

6. Describe how the two figures at the right are
alike and how they are different. Which box has

larger lateral surface area?

° Watch Video Solution

7. A closed cylindrical tank of radius 7 m and
height 3 m is made from a sheet of metal. How

much sheet of metal is required ?

° Watch Video Solution



https://dl.doubtnut.com/l/_QpXQHvBfDIxG
https://dl.doubtnut.com/l/_0hGbaFoBkN6b
https://dl.doubtnut.com/l/_uagcEV7gpQMO

8. The lateral surface area of a hollow cylinder is
4224 ¢m®. It is cut along its height and formed a
rectangular sheet of width 33 cm. Find the

perimeter of rectangular sheet.

o Watch Video Solution

9. A road roller takes 750 complete revolutions
to move once over to level a road. Find the area
of the road if the diameter of a road roller is 84

cm and length is 1 m.

| & l


https://dl.doubtnut.com/l/_v4GPUVIHiExY
https://dl.doubtnut.com/l/_rOwvqvX9oZKn

| ¥ Watch Video Solution |

10. A company packages its milk powder in
cylindrical container whose base has a diameter
of 14 cm and height 20 cm. Company places a
label around the surface of the container (as

shown in figure). If the label is placed 2 cm from


https://dl.doubtnut.com/l/_rOwvqvX9oZKn
https://dl.doubtnut.com/l/_e2W70PsJ5Dci

top and bottom, what is the area of the label?

MY oy

== ' 1A

° Watch Video Solution

Ncert Section Exercise 11 4



https://dl.doubtnut.com/l/_e2W70PsJ5Dci

1. Given a cylindrical tank, in which situation will
you find surface area and in which situation

volume.

To find how much it can hold.

° Watch Video Solution



https://dl.doubtnut.com/l/_mBC08NVhhLV3

2. Given a cylindrical tank, in which situation will
you find surface area and in which situation

volume.

o Watch Video Solution



https://dl.doubtnut.com/l/_mBC08NVhhLV3
https://dl.doubtnut.com/l/_YF9T3gb5TM0z

3. Diameter of cylinder A is 7 cm, and the height
is 14 cm. Diameter of cylinder B is 14 cm and
height is 7 cm. Without doing any calculations
can you suggest whose volume is greater? Verify
it by finding the volume of both the cylinders.

Check whet

° Watch Video Solution



https://dl.doubtnut.com/l/_YF9T3gb5TM0z
https://dl.doubtnut.com/l/_rdduQgT98S00

4.Find the height of a cuboid whose base area is

1800

Watch Video Solution

5. A cuboid is of dimensions
“eof\rm{ Bem{\rm{ }} \times {\rm{ }54{\rm{

Bem{\rm{ }} \times {\rm{ }}30{\rm{ }}cm

©

Watch Video Solution


https://dl.doubtnut.com/l/_CLDSXvzwz1O7
https://dl.doubtnut.com/l/_LFgs0atGLFK5

6. Find the height of the cylinder whose volume

is 1.54 o

Watch Video Solution

7. A milk tank is in the form of cylinder whose
radius is 1.5 m and length is 7 m. Find the
quantity of milk in litres that can be stored n the

tank?

° Watch Video Solution



https://dl.doubtnut.com/l/_fZUKBb9tQYZM
https://dl.doubtnut.com/l/_Yb90ZyxrHOKv

8. If each edge of a cube is doubled,

how many times will its surface area increase?

° Watch Video Solution

9. If each edge of a cube is doubled,

how many times will its volume increase?

° Watch Video Solution



https://dl.doubtnut.com/l/_2MfVrwfFWq5l
https://dl.doubtnut.com/l/_Hm4rHpH7Q2J3

10. Water is pouring into a cubiodal reservoir at
the rate of 60 litres per minute. If the volume of

reservoir is 108 Q{m"3}°

Watch Video Solution

Exercise Multiple Choice Questions Level 1

1. The maximum length of a pencil that can be

kept in a rectangula box of dimensions

12ecm X 9em X 8em is

A.13 cm


https://dl.doubtnut.com/l/_b1xsHBsuYhoJ
https://dl.doubtnut.com/l/_sEypMrKXYJ97

B.17 cm

C.18 cm

D.19 cm

Answer: B

° Watch Video Solution

2. The surface area of a cube is 1734 sq. cm. Find

its volume.

A. 2197 em?


https://dl.doubtnut.com/l/_sEypMrKXYJ97
https://dl.doubtnut.com/l/_tZmRlIySm029

B. 4913 cm®

C. 2744 cm3

D. 4096 cm®

Answer: B

° Watch Video Solution

3. The volume of a cube is 2744em? . Its surface

area is

A. 196 cm2


https://dl.doubtnut.com/l/_tZmRlIySm029
https://dl.doubtnut.com/l/_lhKrXwDn5rDA

B. 588 cm/>

C.784 cm2

D. 1176 cm/?

Answer: D

° Watch Video Solution

4. How many cubes of 10 cm edge can be put in a

cubical box of Tm edge?

A.10


https://dl.doubtnut.com/l/_lhKrXwDn5rDA
https://dl.doubtnut.com/l/_oP01X8fTiMyv

B. 100

C. 1000

D. 7200

Answer: C

° Watch Video Solution

5. A metallic sheet is a rectangular shape with
dimensions 48 m X 36 m. From each of its

corners, a square is cut off so as to make an


https://dl.doubtnut.com/l/_oP01X8fTiMyv
https://dl.doubtnut.com/l/_BFGM9gw82kFv

open box. If the length of each square is 8 m,

then the volume of the box is

A. 4830 m?

B. 5120m°

C. 6420 m?

D. 8960 m°

Answer: B

0 Watch Video Solution



https://dl.doubtnut.com/l/_BFGM9gw82kFv

6. Two cubes have their volumes in the ratio 1:

27 . The ratio of their surface areas is

Al:3

B.1:9

C.1:27

D. none of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_MPhddkVhr7QM
https://dl.doubtnut.com/l/_0twl1mbBmMd4

7. Three cubes of iron whose edges are 6 cm, 8
cm and 10 cm respectively are melted and
formed into a single cube. The edge of the new
cube formed is

A.12 cm

B.14 cm

C.16 cm

D. 18 cm

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_0twl1mbBmMd4

8. Five equal cubes, each of side 5 cm, are placed

adjacent to each other. The volume of the new

solid formed will be (a) 125 cm3 (b) 625 cm3 (c)

15525 cm3 (d) None of these

A. 125 cm3

B.375 cm?®

C.525 cm?®

D. 625 cm3

Answer: D



https://dl.doubtnut.com/l/_0twl1mbBmMd4
https://dl.doubtnut.com/l/_ZcGpYTceqNmk

\ ° Watch Video Solution

9. A circular well with a diameter of 2 metres, is

dug to a depth of 14 metres. What is the volume

of the earth dug out? (a) 32 m3 (b) 36 m3 (c) 40

m3 (d) 44 m3

A. 32 m3

B.36 m°

C.40 m?

D. 44 m?


https://dl.doubtnut.com/l/_ZcGpYTceqNmk
https://dl.doubtnut.com/l/_YqQ5KPZXVa2r

Answer: D

° Watch Video Solution

10. If the capacity of a cylindrical tank is 1848m?
and the diameter of its base is 14 m, the depth of
the tankis

A.8m

B.12 m

C.16'm

D.18 m


https://dl.doubtnut.com/l/_YqQ5KPZXVa2r
https://dl.doubtnut.com/l/_C7Bn80A06kkP

Answer: B

° Watch Video Solution

11. The ratio of the radius and height of a
cylinder is 2:3. If its volume is 12,936 ¢m?, find the
total surface area of the cylinder.

A.3080 cm?

B. 3480cm*

C. 4260cm?>

D. 4860cm>


https://dl.doubtnut.com/l/_C7Bn80A06kkP
https://dl.doubtnut.com/l/_YphDBDx8xbyv

Answer: A

° Watch Video Solution

12. The number of coins, each of radius 0.75 cm
and thickness 0.2 cm, to be melted to make a
right circular cylinder of height 8 cm and base
radius 3 cm is

A. 460

B. 500

C. 600


https://dl.doubtnut.com/l/_YphDBDx8xbyv
https://dl.doubtnut.com/l/_wuhnWjHCBhue

D. 640

Answer: D

0 Watch Video Solution

13. The length of a room is 5.5 m and width is
3.75 m. Find the cost of paving the floor by slabs
at the rate of Rs 800 per sq. metre. (a) Rs 15,000

(b) Rs 15,550 (c) Rs 15,600 (d) Rs 16,500

A. Rs. 15000


https://dl.doubtnut.com/l/_wuhnWjHCBhue
https://dl.doubtnut.com/l/_YJfvN5xcn12k

B. Rs. 15550

C. Rs. 15600

D. Rs. 16500

Answer: D

° Watch Video Solution

14. The length of a rectangle is 18 cm and its
breadth is 10 cm. When the length is increased

to 25 cm, what will be the breadth of the


https://dl.doubtnut.com/l/_YJfvN5xcn12k
https://dl.doubtnut.com/l/_QIukMwYMj0W6

rectangle if the area remains the same? (a) 7 cm

(b) 7Z17cm (c) 7.2 cm (d) 7.3 cm

A.7 cm

B.71cm

C.72cm

D.73 cm

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_QIukMwYMj0W6

15. A rectangular plot measuring 90 metres by 50
metres is to be enclosed by wire fencing. If the
poles of the fence are kept 5 metres apart, how
many poles will be needed? (a) 55 (b) 56 (c) 57 (d)
58

A. 55

B. 56

C.57

D. 58

Answer: B


https://dl.doubtnut.com/l/_NnNbIl0h4QJE

° Watch Video Solution

16. The length of a rectangular plot is 60% more
than its breadth. If the difference between the
length and the breadth of that rectangle is 24
cm, what is the area of that rectangle? (a) 2400
sg. cm (b) 2480 sq. cm (c) 2560 sq. cm (d) Data

inadequate (e) None of these

A. 2400 sqg.cm

B. 2480 sg.cm

C. 2560 sg.cm


https://dl.doubtnut.com/l/_NnNbIl0h4QJE
https://dl.doubtnut.com/l/_FiiCv0wNBkFn

D. Data inadequate

Answer: C

° Watch Video Solution

17. A rectangular parking space is marked out by
painting three of its sides. If the length of the
unpainted side is 9 feet, and the sum of the
lengths of the painted sides is 37 feet, then what
is the area of the parking space in square feet?

(a) 46 (b) 81 (c) 126 (d) 252


https://dl.doubtnut.com/l/_FiiCv0wNBkFn
https://dl.doubtnut.com/l/_E3qM9d9Bpg7D

A. 46

B. 81

C. 126

D. 252

Answer: C

0 Watch Video Solution

18. The difference between the length and
breadth of a rectangle is 23 m. If its perimeter is

206 m, then its area is


https://dl.doubtnut.com/l/_E3qM9d9Bpg7D
https://dl.doubtnut.com/l/_XdkSxBw9JHSR

A. 1520 m?>

B. 2420 m?>

C. 2480 m?

D. 2520m2

Answer: D

o Watch Video Solution

19. The length of a rectangular plot is 20 metres
more than its breadth. If the cost of fencing the

plot @ Rs 26.50 per metre is Rs 5300, what is the


https://dl.doubtnut.com/l/_XdkSxBw9JHSR
https://dl.doubtnut.com/l/_BwiXXXVLzHYc

length of the plot in metres? (a) 40 (b) 50 (c) 120

(d) Data inadequate (e) None of these

A. 40

B. 50

C.120

D. none of these

Answer: D

0 Watch Video Solution



https://dl.doubtnut.com/l/_BwiXXXVLzHYc

20. The capacity of a tank of dimensions (8 m X

6m X 2.5m)is

A. 120 litres

B. 1200 litres

C. 12000 litres

D. 120000 litres

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_tr7UYUd276h8
https://dl.doubtnut.com/l/_VZFPYB0ADOBp

21.Find the surface areaofa1l0cm X 4 cm X

3 c¢cm brick.

A. 84 sq.cm

B. 124 sq.cm

C.164 sg.cm

D. 180 sg.cm

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_VZFPYB0ADOBp

22. Find the surface area of a cuboid 16 m long,

14 m broad and 7 m high.

A. 1568 m?>

B. 868 m?

C. 6815 m?®

D. 688 m>

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_lqJIMhyPTXFc
https://dl.doubtnut.com/l/_wFJ0yp1ZDEJV

23. The diagonal of a cube is 6,/3 cm. Find its
volume.

A. 612 cm®

B. 216 cm”®

C.226 cm®

D. 136 cm®

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_wFJ0yp1ZDEJV

24. Find the total surface area of a cylinder with

diameter of base 7 cm and height 40 cm.

A. 1540 cm?

B. 880 cm’

C.957 c'm2

D. 415 cm2

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_zKOvbxCZxzrW
https://dl.doubtnut.com/l/_vuqdtQxTdzkM

25.The edges of a cuboid are in the ratio 1:2: 3
and its surface area is 88 cm?®. Find the length,
breadth and height respectively of cuboid.

A. 2,4 and 6

B.4,8and 2

C.6,4 and 2

D.8,2and 6

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_vuqdtQxTdzkM
https://dl.doubtnut.com/l/_zntt7rTggUDS

26.The side of a cube is halved. By what percent

will its surface area decrease ?

A.0.5

B.0.75

C.0.25

D. Surface area remains same

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_zntt7rTggUDS

27. An open cylindrical tank is of radius 2.8 m and

height 3.5 m. What is the capacity of the tank?

A. 96.24 m?®

B.84.26 m°

C.86.24 m?

D. 82.64 m?

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_CIPG7aoaHcGk
https://dl.doubtnut.com/l/_MXyLmCgnDWxT

28. The length of the longest rod that can be put

in a box of dimensions 10 cm by 10 cm by 5 cm is

A. 8 cm

B.9cm

C.12 cm

D.15 cm

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_MXyLmCgnDWxT

29. What is the area of the region of the circle

which is situated outside the incribed square of

sidex ?
A (7 — 2)z”
B. (1 — 2)z? /2
C.2(m — 2)2?
D. (7 — 2)z* /4
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Erb1Rs7iDGSr

30. It is required to fix a pipe such that water

flowing through it at a speed of 7 metres per

minute fills a tank of capacity 440 cubic metres

in 10 minutes. The inner radius of the pipe
1

should be v/2 m (b) 2 m (c) ~m (d)
u m m —m —m
2 V2

A.\/im

B.2m

Answer: A


https://dl.doubtnut.com/l/_aqtWtmLmcqkM

° Watch Video Solution

31. In the given figure , ABCD is a trapezium in
which the parallel sides AB,CD are both

perpendicular to BC. Find the area of the

trapezium:
Bm
D=2——=C
‘:.5:‘
»
 —— el


https://dl.doubtnut.com/l/_aqtWtmLmcqkM
https://dl.doubtnut.com/l/_bgXu0XkmPZnq

A. 140 m?

B. 168 m>

C. 180 m?

D. 156.4 m>

Answer: C

0 Watch Video Solution

32. The height of the hall is 13 m and the
perimeter of its floor is 430 m. Find the area of

four walls of the hall.


https://dl.doubtnut.com/l/_bgXu0XkmPZnq
https://dl.doubtnut.com/l/_lA5OA0YEJvzd

A. 9590 m?

B. 5590 1m>

C. 9055 m?

D. 5059 m/?>

Answer: B

o Watch Video Solution

33. A cuboidal vessel is 22 meter long and 10
meter wide. How high must it be made to hold

440 cubic meter of water?


https://dl.doubtnut.com/l/_lA5OA0YEJvzd
https://dl.doubtnut.com/l/_BkGN8dgryHjs

A. 4 meter

B. 2 meter

C. 8 meter

D. 6 meter

Answer: B

0 Watch Video Solution

34. What is the formula for finding the surface
area of an open cylinder with radius of base 'r'

and height 'h'?


https://dl.doubtnut.com/l/_BkGN8dgryHjs
https://dl.doubtnut.com/l/_0NUpfs7u9j8A

A. 2nrh
B. mr2h
C.7r(2h + r)

D. 277 (h + 7)

Answer: C

0 Watch Video Solution

35. The area of a rhombus is 840 cm? and one of

its diagonals is 14 cm, find the other diagonal.


https://dl.doubtnut.com/l/_0NUpfs7u9j8A
https://dl.doubtnut.com/l/_LI8csb8gKROw

A. 100 cm

B. 140 cm

C.120 cm

D. 210 cm

Answer: C

o Watch Video Solution

Exercise Multiple Choice Questions Level 2



https://dl.doubtnut.com/l/_LI8csb8gKROw

1. The cost of painting the whole surface area of
a cube at the rate of 13 paise per sq. cm is Rs
343.98. Then the volume of the cube is: (a) 8500
cm3 (b) 9000 cm3 (c) 9250 cm3 (d) 9261 cm3

A. 6859 cm”®

B. 8000 cm’

C.9.261 cm®

D. 10.648 cm®

Answer: C

‘ ° WAladk Al \iAAaAn CAaliidkian



https://dl.doubtnut.com/l/_8rSmZ6HUjgix

YVOLLIL VI INAGINI R J

2. How many bricks, each measuring 25 cm X

11.25cm X 6 cm will be needed to build a wall 8

m long, 6 m high and 22.5 cm thick?

A. 5600

B. 6000

C. 6400

D. 7200

Answer: C

| s |


https://dl.doubtnut.com/l/_8rSmZ6HUjgix
https://dl.doubtnut.com/l/_ZjJ8wmgxDZIk

| ¥ Watch Video Solution

3. The dimensions of a piece of iron in the shape
of a cuboid are 270cm x 100cm x 64cm . If it is
melted and recast into a cube, then the surface
area of the cube will be (a) 14400 cm2 (b) 44200
cm2 (c) 57600 cm?2 (d) 86400 cm?2

A. 14400 cm?

B. 44200 cm?

C. 57600 cm/>

D. 86400 cm/?>


https://dl.doubtnut.com/l/_ZjJ8wmgxDZIk
https://dl.doubtnut.com/l/_WC32pAtTEw37

Answer: D

° Watch Video Solution

4. The ratio of the total surface area to the

lateral surface area of a cylinder whose radius is

20 cm and height 60 cm, is

A 2:1

B.3:2

C.4:3

D.5:3


https://dl.doubtnut.com/l/_WC32pAtTEw37
https://dl.doubtnut.com/l/_BC0pTGQDWQ1y

Answer: C

° Watch Video Solution

5. 66 cubic centimetres of silver is drawn into a

wire 1 mm in diameter. The length of the wire in

metres will be (a) 84 (b) 90 (c) 168 (d) 336

A.78

B. 84

C.96

D. 108


https://dl.doubtnut.com/l/_BC0pTGQDWQ1y
https://dl.doubtnut.com/l/_N7llKGQA3k8g

Answer: B

° Watch Video Solution

6. A closed box is varnished on the outside at the
rate of 5 paise per cm?. What is the total cost of
varnishing a box of length 50 cm, breadth 40 cm

and height 30 cm?

° Watch Video Solution



https://dl.doubtnut.com/l/_N7llKGQA3k8g
https://dl.doubtnut.com/l/_M80H8TW6VTZX

7. If the diameter of base of a right circular
cylinder is decreased by 10%, then volume of
cylinder remains the same. Find the percentage
increase in height.

A.0.2

B.0.2345

C.0.15

D. 0.2054

Answer: B

‘ ° WMok~ \iAAaAn CAaliidkianm



https://dl.doubtnut.com/l/_sxU7dnv23m1j

YVOLLIL VI INAGINI R J

8.If the area of three adjoining faces of a cuboid
are a*, b* and ¢ respectively, then the volume
of the cuboid is

A. a’b’c?

B. abc

C.a’b*c?

D. /abc

Answer: B

| s |


https://dl.doubtnut.com/l/_sxU7dnv23m1j
https://dl.doubtnut.com/l/_NZOKPZPl8h8a

| ¥ Watch Video Solution

9. The difference between the area of a square
and that of an equilateral triangle on the same
base is 1/4 cm?. What is the length of side of

triangle ?

(4_ \/3)1/2

B. (44 /3)""% em

1/2

C.(4—+3) “cm

D. (4 + +/3) 2 em


https://dl.doubtnut.com/l/_NZOKPZPl8h8a
https://dl.doubtnut.com/l/_0mLrEVa0hbRF

Answer: C

° Watch Video Solution

10. The measure of each of the two opposite
angles of a rhombus is 60° and the measure of
one of its sides is 10 cm. The length of its smaller
diagonal is

A.10 cm

B.10,/3 cm

C.104/2 cm


https://dl.doubtnut.com/l/_0mLrEVa0hbRF
https://dl.doubtnut.com/l/_QaWLlCObzD56

5
D.—\/icm

2

Answer: A

o Watch Video Solution

11. Anjali has 0.88 cubic metres of iron. Find the

number of cylindrical iron rods, each of length 14

m and diameter 2 cm, she can make.

A. 150

B. 200


https://dl.doubtnut.com/l/_QaWLlCObzD56
https://dl.doubtnut.com/l/_eyZLlKmfe4zF

C. 250

D. 400

Answer: B

° Watch Video Solution

12.In the given figure, the side of the square is 10
cm. EF =2.5 cm and C and D are half way between

the top and bottom sides of the figure. The area


https://dl.doubtnut.com/l/_eyZLlKmfe4zF
https://dl.doubtnut.com/l/_MCltR3LmrsZK

of the shaded portion of the figure is

2.6 ocm
A
10 em
E‘l‘
A.43.75 cm2
B. 56.25cm>
C. 55.25¢cm>
D. 50. 25¢m?

Answer: A

[


https://dl.doubtnut.com/l/_MCltR3LmrsZK

I O Watch Video Solution

13. The perimeter of a rhombus is 146 cm and
one of its diagonal is 55 cm. Find the other
diagonal and the area of the rhombus.

A. 24 cm, 660 cm*

B. 24 cm, 330 cm”

C.48 cm , 660 cm/?

D. 48 cm, 1320 cm?

Answer: D


https://dl.doubtnut.com/l/_MCltR3LmrsZK
https://dl.doubtnut.com/l/_sH0sPUtVzZgF

° Watch Video Solution

14. The circumference of the base of a circular
cylinder is 8m cm. The height of the cylinder is
same as the diameter of the base. How much
water can the cylinder hold?

A. 1287 litres

B. 0.1287 litres

C. 6307 litres

D. 0.1647 litres


https://dl.doubtnut.com/l/_sH0sPUtVzZgF
https://dl.doubtnut.com/l/_K9lI6VrKmFTm

Answer: B

° Watch Video Solution

15. If the perimeter of a rhombus is 4a and the
length of the diagonals are = and y, then its

area is

D. —xy


https://dl.doubtnut.com/l/_K9lI6VrKmFTm
https://dl.doubtnut.com/l/_kRXoK6CPzrgN

Answer: D

° Watch Video Solution

Exercise Match The Following

1. In this section, each question has two
matching lists. Choices for the correct
combination of elements from List-l and List-ll
are given as options (a), (b), (c ) and (d) out of

which one is correct.


https://dl.doubtnut.com/l/_kRXoK6CPzrgN
https://dl.doubtnut.com/l/_Qu62Vrvi5Bs5

Match the following lists:

List-1 List-I1
. v3
(F) The pernimeter of a in . isade)
rhombuis i -
Iﬁ
Q) The arcumference of a (2) I8 + &
circle is
(K} The altitude of an » dar
equilateral tnangle is
(5} The diagonal of a 4 JP

rectangle is

A. P-2,0Q-3,R-4, S-1

B. P-2, Q-3, R-1,5-4

C.P-2, Q-1,R-3, 5-4

D. P-1, Q-3, R-4,S-2

Answer: B

| =


https://dl.doubtnut.com/l/_Qu62Vrvi5Bs5

I O Watch Video Solution I

2. In this section, each question has two
matching lists. Choices for the correct
combination of elements from List-l and List-ll
are given as options (a), (b), (c ) and (d) out of

which one is correct.


https://dl.doubtnut.com/l/_Qu62Vrvi5Bs5
https://dl.doubtnut.com/l/_e3934AsmGxVe

Match the following lists:

Lint-1 List-11
(") The area of triangbe (in (1) 11
s cm) whose base is
24 ¢m and whose
altitude s 1.5 dm ix
(Q) The diameter of a {2) M50
wheel is | 26 m, How
far will it travel (n 500
revolutions in metres?
(R} The height (inemjofa {3) 180
cubold where volume
in 275 em® and base
area s 25 cm?’ is
{(5) The circumiberence of (4) |98
the base of the cylinder
is 132 cm and its heggha
b 2% e, 1he volume of
the evlinder {in em') is

A.P-3,0-4,R-1,5-2
B. P-4, Q-1,R-3,5-2

C.P-4,0-1,R-2,S-3


https://dl.doubtnut.com/l/_e3934AsmGxVe

D. P-3, Q-4,R-2, S-1

Answer: A

o Watch Video Solution

Exercise Assertion Reason Type

1. Directions : In each of the following questions,
a statement of Assertion is given followed by a
corresponding statement of Reason just below

it. Of the statements, mark the correct answer as


https://dl.doubtnut.com/l/_e3934AsmGxVe
https://dl.doubtnut.com/l/_QaFC7arWitNJ

Assertion : In a rectangle ABCD

[¥

£ 'm

The perimeter of rectangle is
5+4+5+4=18 cm
Reason : Perimeter is the distance around a

closed plane figure.

A. If both assertion and reason are true and

reason is the correct explanation of


https://dl.doubtnut.com/l/_QaFC7arWitNJ

assertion.

B. If both assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_QaFC7arWitNJ

2. Directions : In each of the following questions,
a statement of Assertion is given followed by a
corresponding statement of Reason just below
it. Of the statements, mark the correct answer as
Assertion : The area of a rhombus whose side is
6 cm and altitude is 4 cm is 24 cm®.

Reason : Area of a rhombus is sometimes equal

to area of parallelogram as every parallelogram

is a rhombus.

A. If both assertion and reason are true and

reason is the correct explanation of


https://dl.doubtnut.com/l/_SNTTbc60u7V7

assertion.

B. If both assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_SNTTbc60u7V7

3. Directions : In each of the following questions,
a statement of Assertion is given followed by a
corresponding statement of Reason just below
it. Of the statements, mark the correct answer as
Assertion : The area of trapezium if its parallel
sides are Im and 1.2 m and the perpendicular
distance between them is 0.8 m is 0.98 m?.
1

Reason : Area of trapezium = 5 sum of its

parallel sides x height

A. If both assertion and reason are true and

reason is the correct explanation of


https://dl.doubtnut.com/l/_sUNTYWmI7Msx

assertion.

B. If both assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_sUNTYWmI7Msx

4. Directions : In each of the following questions,
a statement of Assertion is given followed by a
corresponding statement of Reason just below
it. Of the statements, mark the correct answer as
Assertion : Chalkbox, a match box and dice, are
all examples of cube.

Reason : A solid bounded by six rectangular

plane faces is called a cuboid.

A. If both assertion and reason are true and

reason is the correct explanation of

assertion.


https://dl.doubtnut.com/l/_bx5fGUbiLaVS

B. If both assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_bx5fGUbiLaVS

5. Directions : In each of the following questions,
a statement of Assertion is given followed by a
corresponding statement of Reason just below
it. Of the statements, mark the correct answer as
Assertion : A sheet of paper, the water in a jug,
the air inside a football, etc are examples of
solids.

Reason : Anything which occupies space is called

a solid.

A. If both assertion and reason are true and

reason is the correct explanation of


https://dl.doubtnut.com/l/_mC3H6ZIkj63Z

assertion.

B. If both assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_mC3H6ZIkj63Z

Exercise Comprehension Type

1. Find the area of a rhombus each side of which
measures 20 cm and one of whose diagonal is 24
cm

A. 380 m?

B. 384 m?

C.384 cm?

D. 38 cm2

Answer: C



https://dl.doubtnut.com/l/_eVI1oWNSM5zx

\ ° Watch Video Solution

2. PASSAGE-l: The area of a rhombus is

%(dl X dy) and perimeter = 2\/(df +d2),
where d; and dy are the diagonals of the
rhombus.

The area of the field in the form of rhombus if
the length of each side be 14 cm and the altitude

be 16 cm is

A. 224 cm?

B. 210 cm?


https://dl.doubtnut.com/l/_eVI1oWNSM5zx
https://dl.doubtnut.com/l/_qlwl3gI5CzaU

C. 148 em?

D. 228 cm2

Answer: A

° Watch Video Solution

3. The area of a rhombus is 84 m? If its

perimeter is 40m, then find its altitude.

A.48m

B.84 m


https://dl.doubtnut.com/l/_qlwl3gI5CzaU
https://dl.doubtnut.com/l/_ClVGSLi3nuuF

C.6.8m

D.49m

Answer: B

° Watch Video Solution

4. PASSAGE-Il : The area of trapezium equals half
the sum of parallel sides multiplied by its height.
The altitude of a trapezium when, the sum of the
lengths of whose parallel sides is 6.5 cm and

2

whose area is 26 cm” is


https://dl.doubtnut.com/l/_ClVGSLi3nuuF
https://dl.doubtnut.com/l/_mL6dxt5Vwtmy

A.20m

B.4 cm

C.6cm

D.8 cm

Answer: D

0 Watch Video Solution

5. Find the sum of the lengths of the bases of a
trapezium whose altitude is 1lcm and whose

areais 0. 55 m?.


https://dl.doubtnut.com/l/_mL6dxt5Vwtmy
https://dl.doubtnut.com/l/_KwRpTaqrSipb

A.10m

B.10 cm

C. 1000 m

D.40 cm

Answer: A

o Watch Video Solution

6. If the perimeter of a trapezium be 52cm, its
non parallel sides are equal to 10cm each and its

altitude is 8cm, find the area of the trapezium.


https://dl.doubtnut.com/l/_KwRpTaqrSipb
https://dl.doubtnut.com/l/_GTTUFOZEr0Nz

A. 138m?

B. 128m>

C. 130cm?

D. 128cm?

Answer: D

o Watch Video Solution

Exercise Subjective Problems Very Short Answer

Type



https://dl.doubtnut.com/l/_GTTUFOZEr0Nz

1. How many metres of the carpet 75 cm wide will
be required to cover the floor of a room which is

20 metres long and 12 metres broad?

° Watch Video Solution

2. How many paving stones each measuring 2.5
m X 2 mare required to pave the rectangular

courtyard 30 m long and 16.5 m wide?

° Watch Video Solution



https://dl.doubtnut.com/l/_DJDkhDS8TipG
https://dl.doubtnut.com/l/_biQR6HuOVRcb
https://dl.doubtnut.com/l/_cbF3ewFobSGo

3. A rectangular grassy plot is 112 m by 78 m. It
has a gravel path 2.5 m wide all round it on the
inside. Find the area of the path and the cost of

constructing it at Rs. 2 per square metre.

o Watch Video Solution

4. What will be the ratio of the circumference to
the diameter of the circle if its original radius is

tripled ?

o Watch Video Solution



https://dl.doubtnut.com/l/_cbF3ewFobSGo
https://dl.doubtnut.com/l/_paUgD7m2zHQD

5. There are two 2 m wide cross roads in a lawn
150 m by 120 m dimensions. One of the roads is
parallel to the length and the other is parallel to
the breadth. If it costs Rs. 2 per sq. metre for
levelling the road, what would be the cost

involved?

° Watch Video Solution

6. A cuboidal vessel is 10 cm long and 8 cm wide.

How high must it be made to hold 480 cubic


https://dl.doubtnut.com/l/_P9On04B2Coo9
https://dl.doubtnut.com/l/_JOvvQMGEBpHV

centimetres of a liquid ?

o Watch Video Solution

7. Find the volume in cu. dm of the cube whose

side is 1.2 m.

o Watch Video Solution

8. The radii of two right circular cylinders are in

the ratio 1:2 and their heights are in the ratio


https://dl.doubtnut.com/l/_JOvvQMGEBpHV
https://dl.doubtnut.com/l/_GMbFHJbjpbf7
https://dl.doubtnut.com/l/_JuHWsRd41VLT

4: 3. Calculate the ratio of their curved surface

areas.

o Watch Video Solution

9. A cuboidal wooden box has length = 1.5 m,
breadth = 25 cm and height = 15 cm. Find its

volume.

o Watch Video Solution



https://dl.doubtnut.com/l/_JuHWsRd41VLT
https://dl.doubtnut.com/l/_ivRJEwZhR4pQ

10. The area of the base of a right cylinder is 154

cm? and its height is 15 cm. Find its volume.

o Watch Video Solution

Exercise Subjective Problems Short Answer Type

1. If the length of a rectangle increases by 10%
and the breadth of the rectangle decreases by

12% then find the % change in area.

° Watch Video Solution



https://dl.doubtnut.com/l/_xR4jlX45UHaN
https://dl.doubtnut.com/l/_e6ocuVCIQ9Gm

2. The front wheels of a wagon are 27 m in
circumference and the back wheels are 37 m in
circumference. When the front wheels have
made 10 more revolutions than the back wheels,

how many metres has the wagon travelled?

0 Watch Video Solution



https://dl.doubtnut.com/l/_e6ocuVCIQ9Gm
https://dl.doubtnut.com/l/_INjXjdi8Itmh

3. Find the area of the shaded regions.

i f i

i i

1 - e M

° Watch Video Solution

4. Eight identical cuboidal wooden blocks are
stacked one on top of the other. The total

volume of the solid so formed is 128 cm?. If the


https://dl.doubtnut.com/l/_8Wvab3r5BgPP
https://dl.doubtnut.com/l/_GHrWJ3sHFRuK

height of each block is 1cm and the base is a

square, find the dimensions of each block.

° Watch Video Solution

5. Find the volume in cubic metres ( cu. m) of
each of the cuboids whose dimensions are :

Length=10 m, breadth=8 m, height=2.5m

° Watch Video Solution



https://dl.doubtnut.com/l/_GHrWJ3sHFRuK
https://dl.doubtnut.com/l/_5tAjaADdjCuN

6. Find the volume in cubic metres ( cu. m) of
each of the cuboids whose dimensions are:

Length=2 m, breadth= 1.5 m, height =25 cm

° Watch Video Solution

7. A rectangular water reservoir contains 42000
litres of water. Find the depth of the water in the

reservoir if its base measures 6m by 3.5m.

° Watch Video Solution



https://dl.doubtnut.com/l/_c5ryEHkleidP
https://dl.doubtnut.com/l/_sSZrpdd4Gupu
https://dl.doubtnut.com/l/_gEbMQDfu3j6t

8. What is the weight of a cubical block of ice
50cm in length, if one cubic metre of ice weighs

900 kilograms?

° Watch Video Solution

9. A solid cube is cut into two cuboids of equals
volumes. Find the ratio of the total surface area

of the given cube to one of the cuboids.

° Watch Video Solution



https://dl.doubtnut.com/l/_gEbMQDfu3j6t
https://dl.doubtnut.com/l/_FnaHaDxBjcgf
https://dl.doubtnut.com/l/_glzpKKtIqmBj

10. The radius of the base of a cylindrical water-
drum open at the top at the top is 35 cm and
height 1.3m. Find the inner surface area of the

water-drum.

o Watch Video Solution

1. The rain water that falls on a roof of area
6160 m? is collected in a cylindrical tank of
diameter 14m and height 10m and thus the tank
is completely filled. Find the height of rain water

on the roof.

| = 1


https://dl.doubtnut.com/l/_glzpKKtIqmBj
https://dl.doubtnut.com/l/_zcjVYMxVbG2Z

I &9 Watch Video Solution ]

Exercise Long Answer Type

1. 11. The parallel sides of a trapezium are 20 cm

and 10 cm. Its nonparallel sides are both equal.

each being 13 cm. Find the area of the trapezium.

o Watch Video Solution

2. The length of a room is one and a half times

its breadth. The cost of carpeting the room at


https://dl.doubtnut.com/l/_zcjVYMxVbG2Z
https://dl.doubtnut.com/l/_lBrP2Eph29zC
https://dl.doubtnut.com/l/_1CEKLzzb09Yg

Rs.3.25 per m? is Rs.175.50 and the cost of
papering the walls at
Rs.1.40 per m?is Rs.240.80 . If 1 door and 2
window occupy 8 m?, find the dimensions of the

room.

° Watch Video Solution

3. The external length, breadth and height of a
closed rectangular wooden box are 18cm, 10cm
and 6cm respectively and thickness of wood is

1
2 m When the box is empty, it weight 15kg and


https://dl.doubtnut.com/l/_1CEKLzzb09Yg
https://dl.doubtnut.com/l/_HruXlwwcZOHY

when filled with sand it weighs 100kg. Find the
weight of one cubic cm of weed and cubic cm of

sand.

o Watch Video Solution

4. An open rectangular cistern when measured
from outside is 1.35 m long, 1.08 m broad and 90
cm deep. It is made up of iron, which is 2.5 cm
thick. Find the capacity of the cistern and the

volume of the iron used.

o Watch Video Solution



https://dl.doubtnut.com/l/_HruXlwwcZOHY
https://dl.doubtnut.com/l/_9ahWLnbMvVCD

5. A solid iron rectangular block of dimensions
44 m, 26 m and 1 m is cast into a hollow
cylindrical pipe of internal radius 30 cm and

thickness 5 cm.Find the length of the pipe.

° Watch Video Solution

Exercise Integer Numerical Value Type

1. The ratio between the length and the

perimeter of a rectangular plot is 1: 3. The ratio


https://dl.doubtnut.com/l/_9ahWLnbMvVCD
https://dl.doubtnut.com/l/_ZmOltHBztxG3
https://dl.doubtnut.com/l/_aK6Z3cjJXNK7

between the length and breadth of the plot is

k:1.Find k.

° Watch Video Solution

2. The cost of carpeting a room 18 m long with a
carpet 75 cm wide at Rs. 4.50 per metre is Rs. 810.

The breadth of the room is (k — 0.5)m. The

value of k is

o Watch Video Solution



https://dl.doubtnut.com/l/_aK6Z3cjJXNK7
https://dl.doubtnut.com/l/_u2RLKUtJM5di

3. The area of a rhombus whose diagonals are 10

cmand 12 cmis £ cm?. The value of z is

° Watch Video Solution

4. The area of a parallelogram with base 14 cm

and altitude 8 cm is y cm? The value of

(y — 110) is

° Watch Video Solution



https://dl.doubtnut.com/l/_4VfQnNinWToO
https://dl.doubtnut.com/l/_JC2pB6GShXpx

5. The altitude of a trapezium whose area is 105
em? and base are 14 cm and 7 cm is A ¢cm. The

value of h is

° Watch Video Solution

6. The area of a triangular garden is 9520 m?. If

its base is 340 m, the altitude is a m. The value of

2is
8

° Watch Video Solution



https://dl.doubtnut.com/l/_sxGXVS5sY2jh
https://dl.doubtnut.com/l/_P84j1gwIe5fK
https://dl.doubtnut.com/l/_bUmh4DeYPHAo

7. Three metal cubes of sides 5 cm, 4 cm and 3
cm respectively are melted and recast into a new
cube. The edge of the new cube so formed is

cam.

o Watch Video Solution

8. A milk container is 8 cm long and 50 cm wide.
The height of the container, so that it can hold 4

litres of milk is k cm. The value of k is

o Watch Video Solution



https://dl.doubtnut.com/l/_bUmh4DeYPHAo
https://dl.doubtnut.com/l/_jYGdk963f9vr

9. The radius and height of a cylinder are in the
ratio 5: 7 and its volume is 4400 c¢m®. Find the

unit digit of height.

° Watch Video Solution

10. Unit digit of the surface area of a chalk box,
whose length, breadth and height are 16 cm, 8

cm and 6 cm respectively, is

° Watch Video Solution



https://dl.doubtnut.com/l/_7JuAYwF489wb
https://dl.doubtnut.com/l/_sKtLuXNbTEDh

Olympiad Hots Corner

1. The volume of two cubes are in the ratio 1: 64.
If the volume of the larger cube is 504 ¢m?® more
than that of the smaller cube, then

(i) What is the volume of the smaller cube?

(i) What is the length of each side of the larger

cube?
A 8cm® 8cm
> 8cm?® Tcm
- 7cm® 8cm


https://dl.doubtnut.com/l/_DnQV2wQwtP2Z

Dz' 11
3

" 7cm3  9cm

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_DnQV2wQwtP2Z

2. Match the following:

)

(Q)

(R)

(5

List-1
A cylinwdrical roller s of ength
2 m and diameter 84 cm
The number of revolutions it
has to make b cover an area
of 7920 m? |s
The circumierence of the
base of a right eircular
cylinder is 176 em. It the
height of the cylinder (s
1 m, the lateral surface arva
(in sq. cm) of the cylinder s
The dimensions of 4 cuboid
are in the ratio 5 0 2 1
Its volume s 1250 cubic
metres. lis total surface arca
(N sq. mj is
If the total surface area of a
cubdcal tank is 486 sq m, the
length {in m) of one side s

Lisi-11
(1) 17600

{2) 1500

i 9

(4) 850

AP->(2),0->(1),R>(4),S=>(3)


https://dl.doubtnut.com/l/_36oASPePL4Pt

B.P=>(1),0->(2),R=>(3),S=>(4)

C.P>(3),0->(4),R=>(1),5S=>(2)

D.P=>(4),0->(3),R=>(2),S=>(1)

Answer: A

° View Text Solution

3. A swimming bath is 24 m long and 15 m broad.
When a number of men dive into the bath, the
height of the water rises by 1 cm. If the average

amount of water displaced by one of the men be


https://dl.doubtnut.com/l/_36oASPePL4Pt
https://dl.doubtnut.com/l/_mEP1wKqZGDk6

0.1 cu. m, how many men are there in the bath?

(@) 32 (b) 36 (c) 42 (d) 46

A 42

B. 46

C.32

D. 36

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_mEP1wKqZGDk6

4., Sam cut out 6 identical circles from a

rectangular piece of paper shown in the figure.

22
Find the shaded area. ( Taker = —)

7
&
.1-'. ¢imi
¥
21 om
A.626m2
B.294cm2

C. 63 cm?


https://dl.doubtnut.com/l/_tv6sILwwiEUJ

D. 98 cm2

Answer: C

o Watch Video Solution

5. The perimeter of the rectangular field is 406

m. What will be its area if its length is 43 m more

than its breadth?

A. 1520 m?

B. 9840 m?>


https://dl.doubtnut.com/l/_tv6sILwwiEUJ
https://dl.doubtnut.com/l/_q0GKYKjN86Gb

C. 2480 m?

D. 8240 m?>

Answer: B

o Watch Video Solution

6. A regular octagon is formed by cutting an
isosceles right triangle from each of the corners
of a square with side 15 cm. The area (in em? ) of

the octagon is


https://dl.doubtnut.com/l/_q0GKYKjN86Gb
https://dl.doubtnut.com/l/_ygt7qRYd8ioK

Answer: D

0 Watch Video Solution

7.Find the area of the given figure (not drawn to

scale).


https://dl.doubtnut.com/l/_ygt7qRYd8ioK
https://dl.doubtnut.com/l/_anMUvQ1VP0nY

A. 650 cm/>

B. 500 cm2

C.575 cm?


https://dl.doubtnut.com/l/_anMUvQ1VP0nY

D. 525 em/?

Answer: B

0 Watch Video Solution

1
8. If the height of a cylinder becomes 3 of the
original height and the radius is doubled, then
volume of cylinder becomes of its

original volume.

A. 2 times


https://dl.doubtnut.com/l/_anMUvQ1VP0nY
https://dl.doubtnut.com/l/_eRV0cz4urVFt

times

times

»l>||—k L\:)||—l

D. 3 times

Answer: A

° Watch Video Solution

9.If the areas of three adjacent faces of a cuboid

are x, y, z respectively, then the volume of the

cuboid is xyz (b) 2xyz (c) \/xyz (d) 3,/xyz


https://dl.doubtnut.com/l/_eRV0cz4urVFt
https://dl.doubtnut.com/l/_Y5XSxqnWt2g7

A /ryz
Bx+y+ 2
C.m2yz

D.xy + =z

Answer: A

0 Watch Video Solution

10. The edge of a cube is doubled then the

percentage increase in the volume of cube is


https://dl.doubtnut.com/l/_Y5XSxqnWt2g7
https://dl.doubtnut.com/l/_OeqzNMpfZdma

A. 100 %

B. 500 %

C. 300 %

D. 700 %

Answer: D

° Watch Video Solution

11. The area of the field ABGFEA (not drawn to

scale) is


https://dl.doubtnut.com/l/_OeqzNMpfZdma
https://dl.doubtnut.com/l/_7Cxvjtp5Sjpj

A. 7225 m?

B. 7230 m?>

C. 7235 m?>

D. 7240 m?

Answer: A



https://dl.doubtnut.com/l/_7Cxvjtp5Sjpj

\ ° Watch Video Solution

12. If radius of circle is 7 cm, then the perimeter
of the figure and area shaded portion of the

given figure respectively is

e | gy — =—— MM —n

A.144 cm, 462 cm?

B. 156 cm, 462 cm?


https://dl.doubtnut.com/l/_7Cxvjtp5Sjpj
https://dl.doubtnut.com/l/_ncCgaarlyz17

C.122 cm, 294 cm?

D. 144 cm, 394 cm?

Answer: A

° View Text Solution

13. A Rangoli has been drawn on a flor of a
house. ABCD and PQRS both are in the shape of a

rhombus. Find the radius of semicircle drawn on


https://dl.doubtnut.com/l/_ncCgaarlyz17
https://dl.doubtnut.com/l/_Bon7XNFscbPM

each side of rhrombus ABCD.

A. 142.843 cm?

B. 128.973 cm?

C.39.286 cm?

D. 15714 cm?


https://dl.doubtnut.com/l/_Bon7XNFscbPM

Answer: D

° Watch Video Solution

14. The difference of the area of the

circumscribed and the inscribed square of a


https://dl.doubtnut.com/l/_Bon7XNFscbPM
https://dl.doubtnut.com/l/_QEXFyPUItDpP

circle is 35 sq. cm. Find the area of the circle.

A.55sg. m

B.70sq. m

C.55sg.cm

D.70sqg.cm


https://dl.doubtnut.com/l/_QEXFyPUItDpP

Answer: C

° Watch Video Solution

15. An icecream company makes a popular brand
of icecream in a rectangular shaped bar 6 cm
long 5 cm wide and 2 cm thick. To cut costs, the
company has decided to reduce the volume of
the box by 20 % . The thickness will remain the
same but the length and width will be decreased

by the same percentage amount. Which


https://dl.doubtnut.com/l/_QEXFyPUItDpP
https://dl.doubtnut.com/l/_u1EOxfNoCBoY

condition given below will the new length |

satisfy ?

Abb<l<6

B.5 <l <5.5

C.45<l<5b

D.4 <[] < 4.5

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_u1EOxfNoCBoY

16. A rectangular block of wood has dimensions
24 cm by 9 cm by 7 cm. It is cut into bricks. Each
brick is a cube of side 3 cm. Find the largest
number of bricks that can be cut from the block.
A. 48
B. 56

C.49

D. 52

Answer: A

‘ ° WMok~ \iAAaA CAaliidkianm



https://dl.doubtnut.com/l/_2SWRjtetzKct

17. Find the area of the given figure (not drawn

to scale).

Sy
'H.f' Sam 15 am

+— % o —

A. 3339.29 cm?


https://dl.doubtnut.com/l/_2SWRjtetzKct
https://dl.doubtnut.com/l/_3qJPO5NEvPAR

B. 3539.29 cm?

C.3539.29 cm?

D. 5967.47 cm?

Answer: B

° Watch Video Solution

18. Sum of the lengths of all edges of a cube is x
metres. If the surface area of the cube is x sq.

metres, then its volume (in cubic metres) is


https://dl.doubtnut.com/l/_3qJPO5NEvPAR
https://dl.doubtnut.com/l/_YtIROaA1ufkG

D. 2

Answer: B

0 View Text Solution

19. If one of the diagonals of a rhombus is equal
to its side, then the diagonals of the rhombus

are in the ratio


https://dl.doubtnut.com/l/_YtIROaA1ufkG
https://dl.doubtnut.com/l/_zbJ45qyGbdZv

A /3:1
B.1/2:1
C.3:1

D.2:1

Answer: A

o Watch Video Solution

20. Three cubes with sides in the ratio 3: 4 : 5
are melted to form a single cube whose diagonal

is 12\/§cm . The sides of the cubes are (a) 3 cm,


https://dl.doubtnut.com/l/_zbJ45qyGbdZv
https://dl.doubtnut.com/l/_07Jp4J69D8Li

4 cm,5cm (b) 6 cm, 8 cm, 10 cm (c) 9 cm, 12 cm,

15 cm (d) None of these

A.6cm,8cm, 10 cm

B.3cm,4 cm,5cm

C.9cm,12cm, 15 cm

D.12 cm, 16 cm, 20 cm

Answer: A

0 Watch Video Solution



https://dl.doubtnut.com/l/_07Jp4J69D8Li

